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Q.1 Which of the following is not promoted by the advocates of socio-constructivist approach
of learning?

Options 1. Conditioning of behavior
2. Discovery learning
3. Use of cultural tools
4. Scaffolding
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Options 1. reinforce, docile
2. prevent, active
3. create, passive

4. avoid, passive
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Q.1

Options 1. 1
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Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

1. The hopping kangaroo is a familiar sight in every snapshot

relating to Australia. Members of the Kangaroo family can be
as small as a rat or as big as a man. Kangaroos are found
mainly in Australia, Tasmania and New Guinea. Kangaroos,
which are big-footed marsupials that evolved in Australia, use
their short front legs like arms. The man-sized kangaroos of
Australia are capable of speeding up to 88 km/hr for short
distances, their means of locomotion being their powerful
hind legs, which carry them over the ground in jumps of 9 m
or more at a time.

. Weighing around 70 kg, they have an average lifespan of

around six-eight years and a maximum lifetime of 20 years.
When bothered by predators, kangaroos often head for the
water, standing submerged to the chest, and attempting to
drown the attacker by holding him under water. Another
defensive technique is to get their back to a tree and kick at
their adversary with their clawed hind feet, sometimes with
sufficient force to kill a man. Normally shy animals, they alert
other kangaroos of danger by beating on the ground with
their hind feet. This loud alarm signal carries over a long
distance.

The tail is important for kangaroos. It holds them in balance
and supports them when they sit or fight against other
kangaroos. The kangaroo uses its short legs as arms. With
them it scratches itself, cleans its fur and holds branches when
it eats leaves. Kangaroos are marsupials and the females carry
new-borns.in a pouch in front of their abdomens. The babies
are born small and climb up into the safety of the pouch.
There, for the next 255 days or so, they eat, sleep and grow.
Once they reach full development, they leave the pouch. A
young kangaroo that leaves the pouch is called a ‘joey’. To
keep from getting too hot, the kangaroos take naps in the
afternoon and do most of their grazing at night. But the best
stay-cool secret of these creatures is the spit bath! Kangaroos
drool and lick saliva all over their faces and bodies down.

SubQuestion No : 1

The powerful hind legs help Kangaroos to

jump long distances

jump high in the air
escape their predators
attack other jungle animals




2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.2

Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

1. The hopping kangaroo is a familiar sight in every snapshot
relating to Australia. Members of the Kangaroo family can be
as small as a rat or as big as a man. Kangaroos are found
mainly in Australia, Tasmania and New Guinea. Kangaroos,
which are big-footed marsupials that evolved in Australia, use
their short front legs like arms. The man-sized kangaroos of
Australia are capable of speeding up to 88 km/hr for short
distances, their means of locomotion being their powerful
hind legs, which carry them over the ground in jumps of 9 m
or more at a time.

2. Weighing around 70 kg, they have an average lifespan of
around six-eight years and a maximum lifetime of 20 years.
When bothered by predators, kangaroos often head for the
water, standing submerged to the chest, and attempting to
drown the attacker by holding him under water. Another
defensive technique is to get their back to a tree and kick at
their adversary with their clawed hind feet, sometimes with
sufficient force to kill a man. Normally shy animals, they alert
other kangaroos of danger by beating on the ground with
their hind feet. This loud alarm signal carries over a long
distance.

3. Thetail is important for kangaroos. It holds them in balance
and supports them when they sit or fight against other
kangaroos. The kangaroo uses its short legs as arms. With
them it scratches itself, cleans its fur and holds branches when
it eats leaves. Kangaroos are marsupials and the females carry
new-borns.in a pouch in front of their abdomens. The babies
are born small and climb up into the safety of the pouch.
There, for the next 255 days or so, they eat, sleep and grow.
Once they reach full development, they leave the pouch. A
young kangaroo that leaves the pouch is called a ‘joey’. To
keep from getting too hot, the kangaroos take naps in the
afternoon and do most of their grazing at night. But the best
stay-cool secret of these creatures is the spit bath! Kangaroos
drool and lick saliva all over their faces and bodies down.

SubQuestion No : 2




Read the following statements.

a) Kangaroos are big-footed animals who use their
front legs as arms.

b) Though small in size they can run very fast for a very
long distance.

1. both (a) and (b) are true.
2. both (a) and (b) are false.
3. (a)is true and (b) is false.
4. (a)is false and (b) is true.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3
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Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

1. The hopping kangaroo is a familiar sight in every snapshot

relating to Australia. Members of the Kangaroo family can be
as small as a rat or as big as a man. Kangaroos are found
mainly in Australia, Tasmania and New Guinea. Kangaroos,
which are big-footed marsupials that evolved in Australia, use
their short front legs like arms. The man-sized kangaroos of
Australia are capable of speeding up to 88 km/hr for short
distances, their means of locomotion being their powerful
hind legs, which carry them over the ground in jumps of 9 m
or more at a time.

. Weighing around 70 kg, they have an average lifespan of

around six-eight years and a maximum lifetime of 20 years.
When bothered by predators, kangaroos often head for the
water, standing submerged to the chest, and attempting to
drown the attacker by holding him under water. Another
defensive technique is to get their back to a tree and kick at
their adversary with their clawed hind feet, sometimes with
sufficient force to kill a man. Normally shy animals, they alert
other kangaroos of danger by beating on the ground with
their hind feet. This loud alarm signal carries over a long
distance.

3. Thetail is important for kangaroos. It holds them in balance

and supports them when they sit or fight against other
kangaroos. The kangaroo uses its short legs as arms. With
them it scratches itself, cleans its fur and holds branches when
it eats leaves. Kangaroos are marsupials and the females carry
new-borns.in a pouch in front of their abdomens. The babies
are born small and climb up into the safety of the pouch.
There, for the next 255 days or so, they eat, sleep and grow.
Once they reach full development, they leave the pouch. A
young kangaroo that leaves the pouch is called a ‘joey’. To
keep from getting too hot, the kangaroos take naps in the
afternoon and do most of their grazing at night. But the best
stay-cool secret of these creatures is the spit bath! Kangaroos
drool and lick saliva all over their faces and bodies down.

SubQuestion No : 3

Which of the following jobs are done by a Kangaroo, using

its hind legs?
1. scratches itself
2. clean itself
3. holds branches
4, attacks its predator




|options 1. 1
2.2
3.3
4.4

Question Type : MCQ

Status : Answered
Chosen Option : 4
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Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

1. The hopping kangaroo is a familiar sight in every snapshot

relating to Australia. Members of the Kangaroo family can be
as small as a rat or as big as a man. Kangaroos are found
mainly in Australia, Tasmania and New Guinea. Kangaroos,
which are big-footed marsupials that evolved in Australia, use
their short front legs like arms. The man-sized kangaroos of
Australia are capable of speeding up to 88 km/hr for short
distances, their means of locomotion being their powerful
hind legs, which carry them over the ground in jumps of 9 m
or more at a time.

. Weighing around 70 kg, they have an average lifespan of

around six-eight years and a maximum lifetime of 20 years.
When bothered by predators, kangaroos often head for the
water, standing submerged to the chest, and attempting to
drown the attacker by holding him under water. Another
defensive technique is to get their back to a tree and kick at
their adversary with their clawed hind feet, sometimes with
sufficient force to kill a man. Normally shy animals, they alert
other kangaroos of danger by beating on the ground with
their hind feet. This loud alarm signal carries over a long
distance.

3. Thetail is important for kangaroos. It holds them in balance

and supports them when they sit or fight against other
kangaroos. The kangaroo uses its short legs as arms. With
them it scratches itself, cleans its fur and holds branches when
it eats leaves. Kangaroos are marsupials and the females carry
new-borns.in a pouch in front of their abdomens. The babies
are born small and climb up into the safety of the pouch.
There, for the next 255 days or so, they eat, sleep and grow.
Once they reach full development, they leave the pouch. A
young kangaroo that leaves the pouch is called a ‘joey’. To
keep from getting too hot, the kangaroos take naps in the
afternoon and do most of their grazing at night. But the best
stay-cool secret of these creatures is the spit bath! Kangaroos
drool and lick saliva all over their faces and bodies down.

SubQuestion No : 4

Q.4

&

A kangaroo tries to kill its predator by:

attempting to drown him by holding him under
water

standing submerged to the chest

beating on the ground

sending loud alarm signals




|options 1. 1
2.2
3.3
4.4

Question Type : MCQ

Status : Answered
Chosen Option : 1

addazy




Q.5

Options 1. 1

Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

1. The hopping kangaroo is a familiar sight in every snapshot

relating to Australia. Members of the Kangaroo family can be
as small as a rat or as big as a man. Kangaroos are found
mainly in Australia, Tasmania and New Guinea. Kangaroos,
which are big-footed marsupials that evolved in Australia, use
their short front legs like arms. The man-sized kangaroos of
Australia are capable of speeding up to 88 km/hr for short
distances, their means of locomotion being their powerful
hind legs, which carry them over the ground in jumps of 9 m
or more at a time.

. Weighing around 70 kg, they have an average lifespan of

around six-eight years and a maximum lifetime of 20 years.
When bothered by predators, kangaroos often head for the
water, standing submerged to the chest, and attempting to
drown the attacker by holding him under water. Another
defensive technique is to get their back to a tree and kick at
their adversary with their clawed hind feet, sometimes with
sufficient force to kill a man. Normally shy animals, they alert
other kangaroos of danger by beating on the ground with
their hind feet. This loud alarm signal carries over a long
distance.

3. Thetail is important for kangaroos. It holds them in balance

il ol

and supports them when they sit or fight against other
kangaroos. The kangaroo uses its short legs as arms. With
them it scratches itself, cleans its fur and holds branches when
it eats leaves. Kangaroos are marsupials and the females carry
new-borns.in a pouch in front of their abdomens. The babies
are born small and climb up into the safety of the pouch.
There, for the next 255 days or so, they eat, sleep and grow.
Once they reach full development, they leave the pouch. A
young kangaroo that leaves the pouch is called a ‘joey’. To
keep from getting too hot, the kangaroos take naps in the
afternoon and do most of their grazing at night. But the best
stay-cool secret of these creatures is the spit bath! Kangaroos
drool and lick saliva all over their faces and bodies down.

SubQuestion No : 5

Why do kangaroos take nap in the afternoon?

to avoid their predators

to graze out at night

to stay cool

to prepare for the spit bath




2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q.6

Options 1. 1

Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

1. The hopping kangaroo is a familiar sight in every snapshot

relating to Australia. Members of the Kangaroo family can be
as small as a rat or as big as a man. Kangaroos are found
mainly in Australia, Tasmania and New Guinea. Kangaroos,
which are big-footed marsupials that evolved in Australia, use
their short front legs like arms. The man-sized kangaroos of
Australia are capable of speeding up to 88 km/hr for short
distances, their means of locomotion being their powerful
hind legs, which carry them over the ground in jumps of 9 m
or more at a time.

. Weighing around 70 kg, they have an average lifespan of

around six-eight years and a maximum lifetime of 20 years.
When bothered by predators, kangaroos often head for the
water, standing submerged to the chest, and attempting to
drown the attacker by holding him under water. Another
defensive technique is to get their back to a tree and kick at
their adversary with their clawed hind feet, sometimes with
sufficient force to kill a man. Normally shy animals, they alert
other kangaroos of danger by beating on the ground with
their hind feet. This loud alarm signal carries over a long
distance.

3. Thetail is important for kangaroos. It holds them in balance

el ol

and supports them when they sit or fight against other
kangaroos. The kangaroo uses its short legs as arms. With
them it scratches itself, cleans its fur and holds branches when
it eats leaves. Kangaroos are marsupials and the females carry
new-borns.in a pouch in front of their abdomens. The babies
are born small and climb up into the safety of the pouch.
There, for the next 255 days or so, they eat, sleep and grow.
Once they reach full development, they leave the pouch. A
young kangaroo that leaves the pouch is called a ‘joey’. To
keep from getting too hot, the kangaroos take naps in the
afternoon and do most of their grazing at night. But the best
stay-cool secret of these creatures is the spit bath! Kangaroos
drool and lick saliva all over their faces and bodies down.

SubQuestion No : 6

‘locomotion’ in para 1 is used as a/an

noun
verb
adverb
adjective




2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3
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Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

1. The hopping kangaroo is a familiar sight in every snapshot

relating to Australia. Members of the Kangaroo family can be
as small as a rat or as big as a man. Kangaroos are found
mainly in Australia, Tasmania and New Guinea. Kangaroos,
which are big-footed marsupials that evolved in Australia, use
their short front legs like arms. The man-sized kangaroos of
Australia are capable of speeding up to 88 km/hr for short
distances, their means of locomotion being their powerful
hind legs, which carry them over the ground in jumps of 9 m
or more at a time.

. Weighing around 70 kg, they have an average lifespan of

around six-eight years and a maximum lifetime of 20 years.
When bothered by predators, kangaroos often head for the
water, standing submerged to the chest, and attempting to
drown the attacker by holding him under water. Another
defensive technique is to get their back to a tree and kick at
their adversary with their clawed hind feet, sometimes with
sufficient force to kill a man. Normally shy animals, they alert
other kangaroos of danger by beating on the ground with
their hind feet. This loud alarm signal carries over a long
distance.

3. Thetail is important for kangaroos. It holds them in balance

and supports them when they sit or fight against other
kangaroos. The kangaroo uses its short legs as arms. With
them it scratches itself, cleans its fur and holds branches when
it eats leaves. Kangaroos are marsupials and the females carry
new-borns.in a pouch in front of their abdomens. The babies
are born small and climb up into the safety of the pouch.
There, for the next 255 days or so, they eat, sleep and grow.
Once they reach full development, they leave the pouch. A
young kangaroo that leaves the pouch is called a ‘joey’. To
keep from getting too hot, the kangaroos take naps in the
afternoon and do most of their grazing at night. But the best
stay-cool secret of these creatures is the spit bath! Kangaroos
drool and lick saliva all over their faces and bodies down.

SubQuestion No : 7

Q.7

b

Marsupials are animals that

carry their young ones in a pocket of their skin on
the mother’s stomach

give birth to their young ones

feed their young ones

give birth to their young ones by laying eggs




|options 1. 1
2.2
3.3
4.4

Question Type : MCQ

Status : Answered
Chosen Option : 1
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Q.8

Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

1. The hopping kangaroo is a familiar sight in every snapshot

relating to Australia. Members of the Kangaroo family can be
as small as a rat or as big as a man. Kangaroos are found
mainly in Australia, Tasmania and New Guinea. Kangaroos,
which are big-footed marsupials that evolved in Australia, use
their short front legs like arms. The man-sized kangaroos of
Australia are capable of speeding up to 88 km/hr for short
distances, their means of locomotion being their powerful
hind legs, which carry them over the ground in jumps of 9 m
or more at a time.

. Weighing around 70 kg, they have an average lifespan of

around six-eight years and a maximum lifetime of 20 years.
When bothered by predators, kangaroos often head for the
water, standing submerged to the chest, and attempting to
drown the attacker by holding him under water. Another
defensive technique is to get their back to a tree and kick at
their adversary with their clawed hind feet, sometimes with
sufficient force to kill a man. Normally shy animals, they alert
other kangaroos of danger by beating on the ground with
their hind feet. This loud alarm signal carries over a long
distance.

3. Thetail is important for kangaroos. It holds them in balance

and supports them when they sit or fight against other
kangaroos. The kangaroo uses its short legs as arms. With
them it scratches itself, cleans its fur and holds branches when
it eats leaves. Kangaroos are marsupials and the females carry
new-borns.in a pouch in front of their abdomens. The babies
are born small and climb up into the safety of the pouch.
There, for the next 255 days or so, they eat, sleep and grow.
Once they reach full development, they leave the pouch. A
young kangaroo that leaves the pouch is called a ‘joey’. To
keep from getting too hot, the kangaroos take naps in the
afternoon and do most of their grazing at night. But the best
stay-cool secret of these creatures is the spit bath! Kangaroos
drool and lick saliva all over their faces and bodies down.

SubQuestion No : 8

... which carry them over’.... In line 6. The clause used here

is afan
1. adverh clause
2. noun clause
3. adjective clause
4. coordinate clause




|options 1. 1
2.2
3.3
4.4

Question Type : MCQ

Status : Answered
Chosen Option: 2
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Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

There is a saying among the jungle folks that if the panther had as
good a nose as its ears, there would have been only panthers in the
forest.

What this jungle jargon actually means is that among its senses the
panther has the keenest hearing and the dullest sense of smell.

Its sight stands somewhere in between. This does not mean that the
panther can’t take scent at all. After all, the panther returns to its kill
hidden by it under heavy undergrowth, solely by means of smell.
Sportsmen who cannot resist smoking, unwittingly give themselves
away while waiting in ‘machans’ for the panther. | have often seen
panthers turning up at tiger’s kill by taking scent of meat from a
distance.

The nose of the panther stuck back on its pug face is obviously not
intended to perform the same function as the protruded nose of the
dog, the wolf and the jackal, who hunt solely by scent. The very
position of the nose provides a clue to the importance Nature
attaches to its function in the life of an animal. Among all its senses,
the sense of hearing of the panther is, without doubt, the sharpest.
Once, | felt called upon to settle the score with a particularly vicious
panther that had killed a cow in a village after having spirited away
its calf a few days earlier. The cow bore on its throat distinct marks
of canines. It had been also hamstrung from behind. Obviously, it
was the handiwork of two panthers, not of one. As | sat over the
carcass, | heard after sometime a heated argument between the two
panthers lurking in a patch of grass not far from their kill. What the
argument was about was difficult to guess.

SubQuestion No : 9

Q@9 A panther’s'sense of smell is a dog’s.
1. more than
2. less than
3. equal to
4, sharper than
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

There is a saying among the jungle folks that if the panther had as
good a nose as its ears, there would have been only panthers in the
forest.

What this jungle jargon actually means is that among its senses the
panther has the keenest hearing and the dullest sense of smell.

Its sight stands somewhere in between. This does not mean that the
panther can’t take scent at all. After all, the panther returns to its kill
hidden by it under heavy undergrowth, solely by means of smell.
Sportsmen who cannot resist smoking, unwittingly give themselves
away while waiting in ‘machans’ for the panther. | have often seen
panthers turning up at tiger’s kill by taking scent of meat from a
distance.

The nose of the panther stuck back on its pug face is obviously not
intended to perform the same function as the protruded nose of the
dog, the wolf and the jackal, who hunt solely by scent. The very
position of the nose provides a clue to the importance Nature
attaches to its function in the life of an animal. Among all its senses,
the sense of hearing of the panther is, without doubt, the sharpest.
Once, | felt called upon to settle the score with a particularly vicious
panther that had killed a cow in a village after having spirited away
its calf a few days earlier. The cow bore on its throat distinct marks
of canines. It had been also hamstrung from behind. Obviously, it
was the handiwork of two panthers, not of one. As | sat over the
carcass, | heard after sometime a heated argument between the two
panthers lurking in a patch of grass not far from their kill. What the
argument was about was difficult to guess.

SubQuestion No : 10

Q10 gtydy the following statements:
(a) If one wants to watch a panther in its habitat one
must quit smoking.
(b) A panther is likely to forget where it has hidden its

kill.
1. (a)isright and (b) is wrong.
2. (b)is right and (a) is wrong.
3. Both (a) and (b) are right.
4, Both (a) and (b) are wrong.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ




Status : Answered

Chosen Option : 3

Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

There is a saying among the jungle folks that if the panther had as
good a nose as its ears, there would have been only panthers in the
forest.

What this jungle jargon actually means is that among its senses the
panther has the keenest hearing and the dullest sense of smell.

Its sight stands somewhere in between. This does not mean that the
panther can’t take scent at all. After all, the panther returns to its kill
hidden by it under heavy undergrowth, solely by means of smell.
Sportsmen who cannot resist smoking, unwittingly give themselves
away while waiting in ‘'machans’ for the panther. | have often seen
panthers turning up at tiger's kill by taking scent of meat from a
distance.

The nose of the panther stuck back on its pug face is obviously not
intended to perform the same function as the protruded nose of the
dog, the wolf and the jackal, who hunt solely by scent. The very
position of the nose provides a clue to the importance Nature
attaches to its function in the life of an animal. Among all its senses,
the sense of hearing of the panther is, without doubt, the sharpest.
Once, | felt called upon to settle the score with a particularly vicious
panther that had killed a cow in a village after having spirited away
its calf a few days earlier. The cow bore on its throat distinct marks
of canines. It had been also hamstrung from behind. Obviously, it
was the handiwork of two panthers, not of one. As | sat over the
carcass, | heard after sometime a heated argument between the two
panthers lurking in a patch of grass not far from their kill. What the
argument was about was difficult to guess.

SubQuestion No : 11

Q@11 Nature has given the panther a stuck back nose as
1. it may look pretty.
2. it has to use its ears more than its nose.
3. its view from the eyes may not be blocked.
4. it may eat even its stinking kill.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ

Status : Answered

Chosen Option : 2




Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

There is a saying among the jungle folks that if the panther had as
good a nose as its ears, there would have been only panthers in the
forest.

What this jungle jargon actually means is that among its senses the
panther has the keenest hearing and the dullest sense of smell.

Its sight stands somewhere in between. This does not mean that the
panther can’t take scent at all. After all, the panther returns to its kill
hidden by it under heavy undergrowth, solely by means of smell.
Sportsmen who cannot resist smoking, unwittingly give themselves
away while waiting in ‘machans’ for the panther. | have often seen
panthers turning up at tiger’s kill by taking scent of meat from a
distance.

The nose of the panther stuck back on its pug face is obviously not
intended to perform the same function as the protruded nose of the
dog, the wolf and the jackal, who hunt solely by scent. The very
position of the nose provides a clue to the importance Nature
attaches to its function in the life of an animal. Among all its senses,
the sense of hearing of the panther is, without doubt, the sharpest.
Once, | felt called upon to settle the score with a particularly vicious
panther that had killed a cow in a village after having spirited away
its calf a few days earlier. The cow bore on its throat distinct marks
of canines. It had been also hamstrung from behind. Obviously, it
was the handiwork of two panthers, not of one. As | sat over the
carcass, | heard after sometime a heated argument between the two
panthers lurking in a patch of grass not far from their kill. What the
argument was about was difficult to guess.

SubQuestion No : 12

Q12 gtydy the following statements:
(a) A panther eats only the animal killed by him.
(b) Of its three sense organs (eyes, ears and nose), its
ears are the dullest.
(c) Hunters try not to step on even a twig while looking
for a panther.

1. (a)isright and (b) is wrong.
2. (b)is right and (c) is wrong.
3. (c)isright and (a) is wrong.
4. Both (c) and (a) are wrong.
Options 1. 1
2.2
3.3
4.4




Question Type : MCQ
Status : Answered
Chosen Option : 2

Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

There is a saying among the jungle folks that if the panther had as
good a nose as its ears, there would have been only panthers in the
forest.

What this jungle jargon actually means is that among its senses the
panther has the keenest hearing and the dullest sense of smell.

Its sight stands somewhere in between. This does not mean that the
panther can’t take scent at all. After all, the panther returns to its kill
hidden by it under heavy undergrowth, solely by means of smell.
Sportsmen who cannot resist smoking, unwittingly give themselves
away while waiting in ‘machans’ for the panther. | have often seen
panthers turning up at tiger's kill by taking scent of meat from a
distance.

The nose of the panther stuck back on its pug face is obviously not
intended to perform the same function as the protruded nose of the
dog, the wolf and the jackal, who hunt solely by scent. The very
position of the nose provides a clue to the importance Nature
attaches to its function in the life of an animal. Among all its senses,
the sense of hearing of the panther is, without doubt, the sharpest.
Once, | felt called upon to settle the score with a particularly vicious
panther that had killed a cow in a village after having spirited away
its calf a few days earlier. The cow bore on its throat distinct marks
of canines. It had been also hamstrung from behind. Obviously, it
was the handiwork of two panthers, not of one. As | sat over the
carcass, | heard after sometime a heated argument between the two
panthers lurking in a patch of grass not far from their kill. What the
argument was about was difficult to guess.

SubQuestion No : 13

Q13 The writer of this excerpt is a:

1. journalist.

2. hunter.

3. photographer.
4. tourist.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

There is a saying among the jungle folks that if the panther had as
good a nose as its ears, there would have been only panthers in the
forest.

What this jungle jargon actually means is that among its senses the
panther has the keenest hearing and the dullest sense of smell.

Its sight stands somewhere in between. This does not mean that the
panther can’t take scent at all. After all, the panther returns to its kill
hidden by it under heavy undergrowth, solely by means of smell.
Sportsmen who cannot resist smoking, unwittingly give themselves
away while waiting in ‘machans’ for the panther. | have often seen
panthers turning up at tiger’s kill by taking scent of meat from a
distance.

The nose of the panther stuck back on its pug face is obviously not
intended to perform the same function as the protruded nose of the
dog, the wolf and the jackal, who hunt solely by scent. The very
position of the nose provides a clue to the importance Nature
attaches to its function in the life of an animal. Among all its senses,
the sense of hearing of the panther is, without doubt, the sharpest.
Once, | felt called upon to settle the score with a particularly vicious
panther that had killed a cow in a village after having spirited away
its calf a few days earlier. The cow bore on its throat distinct marks
of canines. It had been also hamstrung from behind. Obviously, it
was the handiwork of two panthers, not of one. As | sat over the
carcass, | heard after sometime a heated argument between the two
panthers lurking in a patch of grass not far from their kill. What the
argument was about was difficult to guess.

SubQuestion No : 14

Q14 ‘hidden by it under heavy undergrowth’

The underlined word means the same as:

1. bushes
2. trees
3. crops
4. machans
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions/complete
the statements that follow by choosing the most appropriate
options out of the given ones.

There is a saying among the jungle folks that if the panther had as
good a nose as its ears, there would have been only panthers in the
forest.

What this jungle jargon actually means is that among its senses the
panther has the keenest hearing and the dullest sense of smell.

Its sight stands somewhere in between. This does not mean that the
panther can’t take scent at all. After all, the panther returns to its kill
hidden by it under heavy undergrowth, solely by means of smell.
Sportsmen who cannot resist smoking, unwittingly give themselves
away while waiting in ‘machans’ for the panther. | have often seen
panthers turning up at tiger’s kill by taking scent of meat from a
distance.

The nose of the panther stuck back on its pug face is obviously not
intended to perform the same function as the protruded nose of the
dog, the wolf and the jackal, who hunt solely by scent. The very
position of the nose provides a clue to the importance Nature
attaches to its function in the life of an animal. Among all its senses,
the sense of hearing of the panther is, without doubt, the sharpest.
Once, | felt called upon to settle the score with a particularly vicious
panther that had killed a cow in a village after having spirited away
its calf a few days earlier. The cow bore on its throat distinct marks
of canines. It had been also hamstrung from behind. Obviously, it
was the handiwork of two panthers, not of one. As | sat over the
carcass, | heard after sometime a heated argument between the two
panthers lurking in a patch of grass not far from their kill. What the
argument was about was difficult to guess.

SubQuestion No : 15

Q15 s5plely by means of smell...
The underlined word is a/an
1. Noun
2. Adjective
3. Adverb
4, Conjunction
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.16  Which programme of Government of India under ‘Ek Bharat Shrestha Bharat’ aims at fostering linguistic harmony and
promotion of languages among learners?

. Multilingualism for language learning
. Three language formula

. Bhasha Sangam

. Bhasha for all

Options 1.
2.
3.
4.

B WN 2 fwoR

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.17 Nirmala Devi reads a text on climate change to understand and get the overall message of it. What is this reading
known as?

. Skimming

. Scanning

. Speech reading
. Extensive reading

Bow oM e

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q18 wWhich of the following is true of Sign Language?

1. Sign language has a grammar.
2. Sign language does not have a grammar.
3. Only one Sign language in the world.
4. Sign language is for special people only.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q1% wWhich of the following is NOT a classical language?

1. Tamil
2. Sanskrit
3. Odia
4. Hindi
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.20 Ateacher of class VI does the following task in her classroom.
A short text of eight sentences is made into two different chunks or every alternate sentence is given to each learner in
pairs. Each learner dictates to the other and writes to recreate the whole text. What is this task known as?

1. Paragraph dictation
2. Spelling dictation
3. Mutual dictation
4. Reading dictation

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.21  The stages involved in the process approach to writing are

1. Drafting, Brainstorming, OutIining_,__._Proof—readirig‘- Revising and writing the final draft.
2. OQutlining, Brainstorming, Revising, Drafting, Prdéf—reading__ and writing the final draft.
3. Brainstorming, Outlining, Drafting, Revising, Proof-reading and writing the final draft.
4. Jotting down of points, writing the first draft, proof-reading and writing.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.22 Meenakshi reads lots of short stories and she has made reading of short stories as her hobby. What is this reading
known as?

Extensive reading
Intensive reading
Reading for information
Reading for literary skills

Options 1.
2.
3.
4.

WD = swNe

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.23  Which one of the following would be the most appropriate feedback rubrics for a learner’s performance in a speaking
assessment task?

. Needs improvement.

. Pronunciation was incorrect in many places and commit unacceptable errors.

. Care should to be taken in the pronunciation words like selection, collection, proportion
Poor pronunciation of words like selection, collection, proportion and generation.

Options 1.
2.
3.
4.

th_‘:JLWN)—‘

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.24 wWhich of the following is NOT an authentic activity in textbooks and materials?

1. Write the autobiography of a cow in about 100 words.
2. Based on the reading of the story image you are the Queen and write a letter to your friend about your

experiences.
3. Read the text with your friend and write the events of story in eight points.
4. Imagine you are the river in the story and speak out your feelings when you were flooded.

Options 1.
2.
3.
4.

A W N =

Question Type : MCQ
Status : Answered
Chosen Option: 1




Q.25 Which of the following is NOT the recommendation of the National Education Policy (NEP) 2020 in language
education?

1. Mother tongue / Home language as medium of instruction up to class V preferably till class VIII.
2. Study of classical language as additional option from class VI.

3. Study of a foreign language as an additional option at the secondary level.

4. English as medium of instruction from early years of schooling.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q.26 A teacher collects instances of learning of language by learners over a period of time and records it to use for
assessment of learners? What is this assessment known as?

. Formative assessment
. Thematic assessment
Summative assessment
. Portfolio assessment

BwWw N

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.27 Ateacher of class VIIl makes her learners think of words relating to ‘Pleasure’ and 'Pain’. Later she asks them to create
word webs of the two words in group of five. What is this approach to vocabulary learning is called?

1. Thematic approach
2. Domain based approach
3. Collocation

4. Word circle

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 2




Q28 \Words which we have learnt to use in writing and speaking are

1. internalized words
2. active vocabulary
3. passive vocabulary
4. realia
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3

Q.29 Project work as a language learning task involves

reading, writing on an issue or topic by individual students and sharing it to the whole class.
reading, collection of data / information, analyzing it and writing report in groups.
collection of data and writing report.

writing a series of tasks assigned by the teacher to individual students on various themes.

oW

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q30 wwhich of the following is NOT the objective of learning of grammar?

1. Using the grammar item in real life purposes.

2. Understanding the form through use in contexts.

3. Grammaris learnt by mastering the rules of the language.
4. Discovering the form through language use in contexts
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




